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9.7 Notes

Equations:
Linear: "i = X —M’? e by A{ Exponential: = O
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Graph the set of points. Which model is appropriate for each set?

1.62,075), (-1,15), 0,3}, (1,6 2.(-2,-11), (4,-5),(0,3), {1,-5), (2,-11) 3.(:2, 1), (1,0, 0,1, (1,4, 2.9
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Recognizing Patterns:

Lineay




You Try:

1. Graph each set of points. Which model is most appropriate for each set?
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2. Which type of function best models the ordered pairs
(—~1,0.5), (0, 1), (1, 2), (2, 4), and (3, 8)? Use differences or ratios.
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4. The population of a city for vears since 2000 is showrz bﬁluw. Which kind of function -
best models the data? Write an equation to model the data
X D oo nt Lol Y= IS Value of Used Car

™

[Yearssince2000 | 0 [ 2 % 4 4 6 8 ]

| Population | 1500 | 6000 | 24,000 | 96,000 {384,000

Write the equation. - -
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